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Mr. Reddy, who is our new faculty member, 1s from South.
Identify the relative clause in the given sentence.

When two noun phrases have same grammatical function and
same reference, they are called phrases.

The head of the Noun Phrase is usually a/an

Contact me for further details. Identify the prepositional
phrase in the given sentence.

Give an example of a complex preposition.

I think yours is a better plan. Identify the part of speech
of the underlined word.

I know better. Identify the part of speech of the underlined
word.

Give place to your betters, Identify the part of speech of
the underlined word.

The boxes with which he provided me bettered the sample.
Identify the part of speech of the underlined word.

(10) Adverb is a formal label whereas adverbial is a/an

label.

(11) It 1s very big. Identify intensifier in the given sentence.

(12) Give any two functional labels.

(13) What 1s the difference between a restrictive adjective clause

and a non-restrictive adjective clause?

(14) Deteminer 1s a part of a/an phrase.
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2 Show the structure of the underlined NPs with the help 14
of Tree Diagrams (any seven)

(a)
(b)
(c)
(d)
(e)
()
(8)
(h)

3 A

(B)

[ saw your brother going up the hill.

These useless statements should not be discussed further.

A little knowledge is dangerous.

The last two easy questions were left unanswered.

All the points were discussed.

Both statements are correct.

The doctors' strike was not successful.

The son of Denmark's King married yesterday.

Identify the Formal and Functional labels of the 7
underlined given below : (Any seven)

(1) The old woman appointed her nephew the CEO.
(2) 1 booked my brother a seat in the front row.
(3) My grandmother taught me Biology.

(4) The old man quickly shut the door.

(5) We met each other last Christmas.

(6) The thief is hiding behind the sofa.

(7) Those apples are really good.

(8) They are bosom friends.

Identify Determiners in the following sentences: 7
(a) I have received no warning from anywhere.

(b) We were together in our ups and downs.

(c) He walked around asking whose book it is.

(d) You may make whatever decision you wanted.
(e) Every being is important.

(f) That boy shouted at me.

€3]
(h)

(1)

Q)]

People don't have any idea.

There are some differences between a centipede and
the centipede.

What is the relation between my knowledge and your
thinking?

Neither answer is correct.
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4  Write Short Notes (Any Two) 14
(a) Noun Phrase
(b) Formal and Functional Labels

(c) Determiners

5 (A) Fill in the blanks with the most appropriate prepositions 7

(any seven) :

(1) The gathering is looking forward
the arrival of the chief guest.

(2) The struggle has been on many days.

(3) I believe I was junior you at college.

(4) Let us discuss the issue a cup of tea.

(5) There was no disagreement the president
and the vice-president.

(6) If you abide rules, the rules will keep you
safe.

(7) Many teachers are holidays.

(8) Children are advised not to play the street.

(B) Change the degrees of comparison of the following 7

sentences as directed: (Any Seven)
(1) No sooner had I got on the bus than it started moving.

2)

3)
(4)

(5)
(6)
(7)
(®)

(Positive)

Very few countries in the world are as peaceful as
Denmark. (Superlative)

India is not as large as China. (Comparative)

Virat Kohli is one of the most experienced players in
the team. (Positive)

Non-smokers usually live longer than smokers.
(Positive)

Mukesh Ambani is richer than most other business men
in the world. (Superlative)

Hamlet is one of the most researched tragedies of
Shakespeare. (Positive)

Ravi 1s not as intelligent as his brother. (Comparative).
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